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SOLUTIONS OF TRIANGLES

Illustration

1. In a right triangle ABC, right angled at C, if a =

7 cm and b =  cm, then =7√3 ∠A

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Xcvqk58rzYdS


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

30∘

60∘

45∘

2. In a , if , then =

A. 

ΔABC B = 90∘ tan2.
A

2

a − b

a + b

https://dl.doubtnut.com/l/_Xcvqk58rzYdS
https://dl.doubtnut.com/l/_6bOQBhqP1exU


B. 

C. 

D. 

Answer: B

Watch Video Solution

b − c

b + c

c − a

c + a

b + c

b − c

3. If  in

, then a =

A. 

A = 30∘ , c = 7√3 and C = 90∘

ΔABC

7√3

https://dl.doubtnut.com/l/_6bOQBhqP1exU
https://dl.doubtnut.com/l/_ImOHc0Q5lVdY


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

7√3/2

7/2

4. If two sides and included angle of a triangle

are respectively  and , then

the third sides is

A. 

3 + √3, 3 − √3 60∘

2√2

https://dl.doubtnut.com/l/_ImOHc0Q5lVdY
https://dl.doubtnut.com/l/_ztFTa723dpgB


B. 

C. 

D. none of these

Answer: C

Watch Video Solution

4√2

3√2

5. If the angles of a triangle are 
and

the included side is 
 then the area

of the triangle is______.

A. 

300and450

(√3 + 1)cm

cm2√3 − 1

2

https://dl.doubtnut.com/l/_ztFTa723dpgB
https://dl.doubtnut.com/l/_u0QsPYZ7R4fx


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

cm2√3 + 1

2

(√3 − 1)cm2

6. If 
 then find the

number of triangles that can be constructed.

A. 0

b = 3, c = 4, andB = ,
π

3

https://dl.doubtnut.com/l/_u0QsPYZ7R4fx
https://dl.doubtnut.com/l/_XHbmLuSRbBpG


B. 1

C. 2

D. Infinite

Answer: A

Watch Video Solution

7. In a  a,c, A are given and  are

two values of third side b such that 

Then, the value of sin A.

ΔABC, b1, b2

b2 = 2b1.

https://dl.doubtnut.com/l/_XHbmLuSRbBpG
https://dl.doubtnut.com/l/_rwiIAiOK8VP7


Section I Solved Mcqs

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

√
9a2 − c2

8a2

√
9a2 − c2

8c2

√
9a2 + c2

8a2

https://dl.doubtnut.com/l/_rwiIAiOK8VP7


1. In a  if the length of the sides are 

 and , then the measures of the

angles are

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

ΔABC

√2, √6 √8

30∘ , 60∘ , 90∘

45∘ , 75∘ , 60∘

45∘ , 30∘ , 105∘

https://dl.doubtnut.com/l/_ScxzSiHBsHj4
https://dl.doubtnut.com/l/_MBgquJbFzPvs


2. In a , if a 100, c = 100  and ,

then B equals to

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

ΔABC √2 A = 30∘

45∘ or 135∘

105∘ or 15∘

60∘ or 120∘

https://dl.doubtnut.com/l/_MBgquJbFzPvs


3. In a , if  and , then 

A. b

B. 2b

C. 3b

D. none of these

Answer: B

Watch Video Solution

ΔABC A = 45∘ B = 75∘

a + √2c =

https://dl.doubtnut.com/l/_qFYoD64quYaa


4. In a , if a = 40,  and 

, then the triangle is

A. isosceles

B. equilateral

C. right angled

D. none of these

Answer: A

Watch Video Solution

ΔABC c = 40√3 B = 30∘

https://dl.doubtnut.com/l/_luAeqR1nJ2hw


5. If , then 

A. 3

B. 2

C. 4

D. none of these

Answer: B

Watch Video Solution

a = √3 + 1, B = 30∘ , C = 45∘ c =

https://dl.doubtnut.com/l/_cDxnpyiOxDfc


6. In a , if a = 4, b = 3 and ,

then c is a root of the equation

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔABC ∠A = 60∘

c2 − 3c − 7 = 0

c2 + 3c + 7 = 0

c2 − 3c + 7 = 0

c2 + 3c − 7 = 0

https://dl.doubtnut.com/l/_Lv0cieHqhgVC


7. In a triangle, the lengths of the two larger

sides are 10 and 9,
 respectively. If the angles are

in A.P., then the length of the third side can be

A. 

B. 

C. 5

D. none of these

Answer: A

Watch Video Solution

5 ± √6

3√3

https://dl.doubtnut.com/l/_ufYL3zgEZ6Os
https://dl.doubtnut.com/l/_grNqu4DXCObx


8. In a , if 

, then

the value of  is

A. 

B. 

C. 1

D. none of these

Answer: C

Watch Video Solution

ΔABC

b = √3 + 1, c = √3 − 1 and A = 60∘

tan( )
B − C

2

−1

1/2

https://dl.doubtnut.com/l/_grNqu4DXCObx


9. Let the angles  and 
 of triangle 

be in  and let 
be . Find angle 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A, B C ABC

A
.
P . b : c √3: √2 A.

75∘

60∘

45∘

30∘

https://dl.doubtnut.com/l/_JtHM6beAh3Ci


10. In a , if  and 

, then a=

A. 

B. 2

C. 

D. 

Answer: A

Watch Video Solution

ΔABC A = 120∘ , b = 2

C = 30∘

2√3

√3

2

1

2

https://dl.doubtnut.com/l/_vWWcNnfMUkiv


11. In a , if ,  and 

, then a =

A. 

B. 3

C. 

D. 2

Answer: B

Watch Video Solution

ΔABC A = 30∘ C = 105∘

b = 3√2

√2

3√2

https://dl.doubtnut.com/l/_aGHhoAfGTiSb


12. If , then 

A. 2

B. 3

C. 4

D. none of these

Answer: A

Watch Video Solution

a = √3 + 1, B = 30∘ , C = 45∘

c =

https://dl.doubtnut.com/l/_9LhRC6l5NrNK


13. In a , if a = 3,  and ,

then A=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ΔABC b = 2√3 c = √3

30∘

45∘

60∘

75∘

https://dl.doubtnut.com/l/_j0flaYW3FduC


14. In a , if a = 5,  and ,

then b=

A. 

B. 6

C. 

D. 

Answer: D

Watch Video Solution

ΔABC B = 45∘ c = 2√2

√3

2√13

√13

https://dl.doubtnut.com/l/_YO3fmmh1FW3g


15. In  , If , then 

 =

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΔABC + = 0
b

c2 − a2

a

c2 − b2

∠C

π

2

π

4

2π

3

π

3

https://dl.doubtnut.com/l/_O4PbJ6V0za1e


16. In the ambiguous case, if  are

given and  are the two values of the third 

 is equal to

A. 4

B. 

C. 

D. 

Answer: B

Watch Video Solution

a, b and A

c1, c2

(c1 − c2)2 + (c1 + c2)2 tan2 A

4a2

4b2

4c2

https://dl.doubtnut.com/l/_yoMGr9xUrSRm


Exercise

1. If 
 then find the

number of triangles that can be constructed.

A. Infinite

B. two

C. one

D. nil

Answer: D

Watch Video Solution

b = 3, c = 4, andB = ,
π

3

https://dl.doubtnut.com/l/_s1nl212wbRUM


2. If the data given to construct a triangle ABC

are a = 5, b= 7, sin , then it is possible

to construct

A. only one triangle

B. two triangles

C. infinitely many triangles

D. no triangles

Answer: D

Watch Video Solution

A = 3/4

https://dl.doubtnut.com/l/_s1nl212wbRUM
https://dl.doubtnut.com/l/_xaWVdBrNTU7v


3. We are given b, c and sin B such that B is

acute and  sin B. Then,

A. no triangle is possible

B. one triangle is possible

C. two triangles are possible

D. a right-angled triangle is possible

Answer: A

Watch Video Solution

b < c

https://dl.doubtnut.com/l/_xaWVdBrNTU7v
https://dl.doubtnut.com/l/_45sH6F6DKLEP
https://dl.doubtnut.com/l/_kfPH5S1NkUya


4. In a


 ,

then 
 
(b) 
(c) 
(d) 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ABC, if = 2, ∠B = 600and∠C = 750

b = √3 √6 √9 1 + √2

√3

√6

√9

1 + √2

https://dl.doubtnut.com/l/_kfPH5S1NkUya
https://dl.doubtnut.com/l/_2ePbCiNUQA7U


5. In

, then 

A. 

B. 

C. 

D. 1

Answer: C

Watch Video Solution

ΔABC, if A = 30∘ , b = 8, a = 6, B = sin− 1 x

x =

1/2

1/3

2/3

https://dl.doubtnut.com/l/_2ePbCiNUQA7U
https://dl.doubtnut.com/l/_HMIldRRGZePV


6. If , then C=

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

a = 2, b = 3, c = 5  in ΔABC

π

6

π

3

π

2

https://dl.doubtnut.com/l/_HMIldRRGZePV


7. A triangle side are few  and

 then the smallest angle is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

7cm, 4√3cm

√13cm

15∘

45∘

30∘

https://dl.doubtnut.com/l/_JspPCh820tQS


8. In a , if c = 2, , then

C=

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

ΔABC A = 120∘ , a = √6

30∘

60∘

45∘

https://dl.doubtnut.com/l/_cB1TB1tEPCjN


9. If 
 in 
 then

find the number of triangles that can be

constructed.

A. one solution

B. two solutions

C. no solutions

D. none of these

Answer: B

Watch Video Solution

A = 300, a = 7, andb = 8 ABC,

https://dl.doubtnut.com/l/_Z7R1JePJuEoe
https://dl.doubtnut.com/l/_967ym3sz8ZKZ


10. If a , then a

=

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

ΔABC, b = 2, C = 60∘ , c = √6

√3 − 1

√3

√3 + 1

https://dl.doubtnut.com/l/_967ym3sz8ZKZ


11. If in

,

then

A. 6

B. 7

C. 9

D. none of these

Answer: A

Watch Video Solution

ΔABC, a = 5, b = 4 and cos(A − B) =
31

32

https://dl.doubtnut.com/l/_u97UGFhNRMnI
https://dl.doubtnut.com/l/_39hdIzEJTQL1


12. In a  If 

 then  is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

ΔABC,

A = 30∘ , b = 2, c = √3 + 1,
C − B

2

15∘

30∘

45∘

https://dl.doubtnut.com/l/_39hdIzEJTQL1


13. In a  if a = 2, ,

then cos A=

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

ΔABC b = √6, c = √3 + 1

30∘

45∘

60∘

https://dl.doubtnut.com/l/_oFcpsWSIRvMW


14. In a , if , , a=2, then

B=

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

ΔABC A = 45∘ b = √6

30∘ or 150∘

60∘ or 120∘

45∘ or 135∘

https://dl.doubtnut.com/l/_XGJp3YlXoPlO


15. In a triangle, the lengths of the two larger

sides are 10 and 9,
 respectively. If the angles are

in A.P., then the length of the third side
 can be


(b) 
(c)
 
(d) 

A. 

B. 0.7

C. 

D. none of these

Answer: A

Watch Video Solution

5 − √6 3√3 5 5 + √6

5 ± √6

√5 + 6

https://dl.doubtnut.com/l/_DuAkDlTfx4An


16. The sides of a triangle are 

and  units, where . The  is

A. right angled

B. equilateral

C. obtuse angled

D. none of these

Answer: C

Watch Video Solution

3x + 4y, 4x + 3y

5x + 5y x, y > 0 △

https://dl.doubtnut.com/l/_DuAkDlTfx4An
https://dl.doubtnut.com/l/_Ot25t7Bwzynx
https://dl.doubtnut.com/l/_Zn0sWj96JNoH


17. In a , a,b,A are given and  are

two values of the third side c. The sum of the

areas of two triangles with sides a,b,  and a,b,

 is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

ΔABC c1, c2

c1

c2

(1/2)b2 sin 2A

(1/2)a2 sin 2A

b2 sin 2A

https://dl.doubtnut.com/l/_Zn0sWj96JNoH


18. In the ambiguous case, if  are

given and  are the two values of the third 

 is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a, b and A

c1, c2

(c1 − c2)2 + (c1 + c2)2 tan2 A

2√a2 − b2

√a2 − b2 sin2 A

2√a2 − b2 sin2 A

√a2 − b2

https://dl.doubtnut.com/l/_Zn0sWj96JNoH
https://dl.doubtnut.com/l/_F0U4aIBCv4dA


19. In the ambiguous case, if  are

given and  are the two values of the third 

 is equal to

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

a, b and A

c1, c2

(c1 − c2)2 + (c1 + c2)2 tan2 A

4a2 cos2 A

4a2 cosA

4a cos2 A

https://dl.doubtnut.com/l/_F0U4aIBCv4dA
https://dl.doubtnut.com/l/_IsPeX80uBZpt


20. The smallest angle of the triangle whose

sides are ,  is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

6 + √12 √48, √24

π/3

π/4

π/6

https://dl.doubtnut.com/l/_IsPeX80uBZpt
https://dl.doubtnut.com/l/_ZeMrRhSwkIKO



